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Answer all questions. All questions carry equal
marks.
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What do you mean by frequency distribution ?
Describe kinds of frequency distribution.
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15 40
20 37
25 31
30 23
35 13
40 6
45 0

Find Mean, Median and Mode from the following
data :

Sales (Iir:loge than No. of Salesman
15 40
20 37
25 31
30 23
35 13
40 6
45 0
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What do you mean by skewness ? Give the various
methods of measuring skewness.
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A distribution consists of three components with
frequencies 200, 250, 300 having mean 25, 10 and 15
and standard deviation 3, 4, 5 respectively. Find the
Arithmetic mean and standard deviation of the
combined distribution.
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Define ‘Regression’. How does it differ from
correlation ? Why are there two regression lines ?
When do they coincide ?
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3y - 15 16 | 17 | 18 | 19 | 20

B : 250 | 200 | 150 | 120 | 100 | 80

Raerr<y - | 200 [ 150 | 90 | 48 | 30 | 12

Calculate Karl Pearson’s correlation co-efficient
between the ages and playing habits of students
studying in Ayush University, Raipur.

Age : 15 116 | 17 | 18 | 19 | 20

Students : | 250 | 200 | 150 | 120 | 100 | 80

Player : | 200 | 150 | 90 [ 48 | 30 | 12
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(a) What is Index Number ? Explain the Limitations of
Index Number.

(b) Calculate Paasche’s Price Index from following

data :

Items Uglttyz (’E . Pr;coelf;upees pze(l)‘zulnlt
Food 8 25 30
Cloth 20 15 20
Pulses 5 18 25
Oil 3 12 15
Rent 2 8 10
Misc. 1 4 5
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2007 5

2008 7

2009 9

2010 12

2011 11

2012 10

2013 8
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2014
2015
2016
2017
2018
2019
2020
2021

12
13
17
19
14
13
12
15

Calculate trend values b
from the following data :

y 3-yearly moving average

Year Sales (‘000 units)
2007 5
2008 7
2009 9
2010 12
2011 11
2012 10
2013 8
2014 12
2015 13
2016 17
2017 19
2018 14
2019 13
2020 12
2021 15




(D
2)
3)

(D
)
)

[7] ED-2027
P15
Unit-5
AEHAS YA & I5e99, TP JAT qhlh A
ferera Ry |
Discuss the object, nature and technique of business
forecasting.
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A bay contains 5 white and 7 black balls. A ball is
drawn out of it and replaced in the bag. Then a ball is
drawn again. What is the probability that :
Both the balls drawn were white.
Both were black.
The first ball was white and the second black.



